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for the questions.

Part A (?? - )

Q. No. 1 (a - f) carries 1 mark ench - 1x6= 6
Q. No. 2 =7 carries 2 marks each 2x6 = 12
Q. No. 8 -12 carries 4 marks each . 4x5 = 20
Q. No. 13 & 14 carries 6 marks eaclt 6x2 = 12
Total = 50
Part B (4 -32)
Q. No. 15 (a - f) carries 1 mark eacl 1x6= 6
Q. No. 16 - 21 carries 2 marks each 2%x6 = 12
Q. No. 22 -26 carries 4 marks each 4x5 = 20
Q. No. 27 & 28 carries 6 marks each 6x2 =12
Total = 50

Total (Part A & B): 50+50=100
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PART-A/ F-9i%

(@) Define the term scarcity as used in economics.
T IRTe TRisAeR wRaila el e |
1

(b) What is opportunity cost ?
S [T Y 2

(c) If marginal utility of a commodity is hi
consumer will buy more of the commodity.

gher than the pricé, then the
1

(Write trute or false)

I 96 w@R o el Tfe wEd Ofes T O Geirerel

wyfod @R AR 3fa FR| | (5% 7 YT )
(d) What will be the effect of price change on supply of a commodity
1%

with perfectly inelastic supply ?

B RGACIEICE] %@Wﬁaﬁmmmv@w’mmﬁm 3

(¢) How will an increase in the price of inputs shift the supply curve ?
1

SoAmITCE W g @A B 4R ZHET A FAE ?
(H What is shut-down price ? |
SRS W 2

Why the production possibility curve slopes downwafd from left to right

@Qmm@mmwﬁacwwﬁmmﬁmw?

Give two reasons of a leftward shift in the demand curve. 2

i @l AT G TS 7% e e Tl

f demand of a commodity is 4 and the percentage

The price elasticity 0
change in price I8 8 Find the percentage change in the quantity
2

demanded. . |
aﬁmm&w&mﬁﬁo<%@4mamw%&mw

sifgasa siel I |
What is fixed factor ? Give orne example,

&a@wﬁ?ﬁw‘?mqm'!: .
ke

?
2

1+1=2
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What i : :
1at 1s meant by inelastic supply ? Draw an inelastic supply curve.
S 1+1=2
S @oim B 2 g7l WG oZIE (Gisi @ S S

Il\gz?lzlc:n two differences between monopoly and perfectly competitive
e

SR AN G o AT ST 75 Al S T

Distinguish between change in quantity demanded and change in

demand. 4
Sifn AR siffada @a2 sz AfResee Ak o |
Mention the relationship between total utility and marginal utility. +

GG ToAraifaret Wag Aifis Toaiiaer TE Trad Il

What is variable cost? Why the average variable cost (AVC) curve
becomes U shaped ? 1+3=4

'?ﬁﬂﬁﬁmﬁ?%ﬂﬁ?’ﬁ}l_m @ (AVC) @ U Sighed 2

The production function of a firm is Q= DLVKE:

Find the amount required of factor K if the firm wants to produce 200
units with available 16 units of factor L.

(Q = Output, K=Capital, L =Labour) 4

Gl ! SRR Berim TEe T Q=2L" K2 | Afspr 2ipd 16 97T
| St oC@s 200 @< TG TeArm  TAO DA A
K oW AR s [ (Q = T AMER AR, K = Fd, L = &)1

Mention the effects of the following on the supply of a commodity.

2+2=4
(i) Fall in the price of factors.
(i) Rise in the per unit tax.
0 AEA (G eoi@ FEe 7 2eR erEd I |
() oM FRA WA J
i) oS @ T 9 Ffa
[3] - ] : v Contd. "
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13. Explain the Law of Variable Proportion with diagram. g
iy RN Seitia R art @t
| Or/ Gt
Tl{; total fixed cost of a firm is Rs. 200. Fill in the blanks of the followin;(;
table. :

G 2SS W B e sAfFwe 200 Bt Tva wifert T S

Output TEET: =l AC AVC. MC
T -
1 o =X 100 -
2 460 — - -
3 — 250 — -
4 X il = 230

14. Explain the process of Long-run Equilibrium Price determination of

perfectly competitive industry with diagram.
6

o4ef ARSTAIRSIET ST A S v AR e B e
F@l|

Or/ qqy

Show the effects of change in demand of a commodity on equilibrium
price, if E 3+3=6

(i)  the supply of the commodity is perfectly elastic

(ii) the supply of the commodity is perfectly inelastic,

4% WA S WA AT Bl SRS eer orate ufi —
() wte @ieim 7 Foges =

i) = et = SfEfeeR
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PART-B / #-siod

150 @ In what circumstances, the GDP of an economy can be equal to
GNP ? 1

& Wy @@ (R GDP, GNP-6a ki 408 a2

t8)  What is transfer payment ? 1

- S
TIWTE NEoNY ) o

¢/ What is voluntary unemployment ? 1

(@) What is Break-Even income ? 1

EPNGHCE I b ﬁ?l ?

| (e)  What is the full form of GST? -~ 1
| GST-<F w94 b & 2

; (f)  What is zero primary deficit ? 1
= 2EE QS F 2

16. Mention two subject matters of Macroeconomics. 2

sateam BdRErm 7 Ravag S ol |

17. Mention any two types of leakages found in the Circular Flow of Income.

-

—

wTEA G 4AZ TYd 26U (¥ (e 7o Wefuca R Soma wa

-18. © What is investment multiplier ? Write the relationship between investment
- multiplier and MPC. 14#1=2

fafercma s F 7 flal @ gag MPCaga W FidiB caed |
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19.

21.

22.

24.

2.
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‘What is Budget De

Mention the two primary functions of money- 2
R 715 5w Sz e |
Mention fwo differences between revenue receipts and capital receipts,
g
ey elif)) G2 e anfes s i Al A
1+1=)

State two sources of supply of foreign currency.
AR @R @SR 76 S Sy A |

amount of new investment

The value of MPC of an economy is 0-4. What
in the economy ?

15 required to generate new income of Rs. 500 crore
4

@8 TETO® MPC ~aa T 0-4 1 Seffefre agt aa 500 b TFe
1T AR G @) AR T [ draeT 204 ¢

Explain any two fiscal measures to solve the problems of excess demand in
an economy. 2+2=4

Go5fS ool foa Sreifaes GIfZwi S Al B G 7 (P gl AGTCRIE e %)
1=t Al |

Mention four factors causing disequilibrium in Balance of Payment of
country. 4

s e AT et Sl 72wt ol Gomm Gl el |

Write down four differences between Direct Tax and Indirect Tax., 4

ooy T A AACAPE T BRAG A Al

ficit ? What are the tree types of Budgetary Deficit”?
l.}.j;ﬂl

s Qo A ¢ ArEs Al feafe ea ) ) o

[6]
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Describe the Circular Flow of Income in a Three Sector Economy, 0
foald veye e wim s ez fd we |

Or/ gt
Explain the Expenditure Method of calculating Gross Domestic Product
(GDP). | 6

GO Gl S sl 4 Ao @t awa |

Explain the process of credit creation by commercial banks. 6
ey aewa ad e afEn e @

Or/ Gt
Describe the Quantitative methods adopted by the Central Bank to control
credit created by commercial banks. 6

atfefeyes s atal 58w e o @t g an 92 sAfees e
TG <6 |
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